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| e s | 5 14) 17.0 19.0 18.0 6.0 8.0 14.0][9] 11.5|(1] 20.0|[5] 16.0 10.0{17 4.0{17 9.0 3.0{[Q) 11.5 7.0([6] 15.0 13.0 1.0 2.0 5.0 210.0
£°s 18.0 17.0{[6] 15.0 11.0 10.0 13.0 14.0 20.0 4.0 9.0 5.5 7.5 7.5 5.5 1.0 19.0 16.0 2.5|[9] 12.0 2.5 210.0
2 | K ¥k 20.0 18.0 19.0 7.0{[6] 14.5{[9] 12.0 16.0{(4] 17.0 10.0 3.0 8.0 13.0 9.0 5.0 6.0]6] 14.5 11.0 4.0 1.0 2.0 210.0
3 | #RsCEFER 7.5 7.5 13.5 13.5 13.5 13.5][9] 2.0 16.5 7.5 18.5 16.5 7.5|9] 2.0 18.5 7.5[9] 2.0 7.5 — 7.5 7.5 190.0
sl v rr—n L 2.5 14.5 17.5 14.5 19.0|[9) 8.5 20.0[Q] 8.5 2.5 14.5 17.5 14.5|9) 8.5|9] 8.5|9 8.5|©] 8.5/Q] 8.5|9] 8.5 2.5 2.5 210.0
L8 8.5 14.0 11.5|9] 3.5 8.5][9] 3.5|[5] 8.5|9] 3.5 8.5|9] 3.5 13.00 — — 11.5|9] 3.5|9] 3.5 — — — — 105.0
5| V7 hTF=2A 10.5 10.5 18.0 14.5|13] 4.0 16.5 4.0|03 4.0 16.5|(13) 4.0 10.5(13 4.0 10.5 19.0 4.0|03) 4.0 10.5 10.5 145 — 190.0
S 18.0 17.0/[9] 6.5|9] 6.5 12.5 12.5 1.5/[9] 6.5 15.5/[9] 6.5 12.5|[9] 6.5 15.5|[9] 6.5 12.5{9] 6.5l9] 6.5 — — 1.5 171.0
gl 7| spsvry B 20.0|[3] 18.0|[Q] 8.5 19.0 14.5|[9] 8.5 14.5 2.5 2.5 14.5|9] 8.5|[Q] 8.5 14.5|9] 8.5 17.0{Q] 8.5 2.5/9] 8.5|9] 8.5 2.5 210.0
= 20.0 19.0/[9] 8.5 17.0 14.5 2.5 18.0 14.5|[9] 8.5 14.5|[9] 8.5|[9] 8.5 2.5|9] 8.5 2.5]9] 8.5|(5] 14.5|[Q] 8.5|[Q] 8.5 2.5 210.0
g | g = 13.5 19.0 13.5 16.5|9) 7.5|9] 7.5 18.0 16.5 13.5|9] 7.5|Q] 7.5|Q 7.5 135|891 7.5|[Q1 7.5 2.0/ 2.0)Q] 7.5 200 — 190.0
L8 16.5 18.0][9] 7.5 19.0)9) 7.5]9] 7.5 16.5 13.5 13.5 2.0]9] 7.5 2.0/[9] 7.5]9) 7.5{Q] 7.5|5] 13.5 2.0l9] 7.5 13.5] — 190.0
LS o | ~zry pR—n %3] 18.0 12.5|[9] 6.5|[3] 15.5|[5] 12.5|[5] 12.5|[9] 6.5 15.5 17.0|9] 6.5|[9] 6.5|[Q] 6.5|[Q] 6.5|[9] 6.5 12.5|9] 6.5 15] = 1.5  — 171.0
'S 14.5 11.5{[9] 5.5 14.5{9] 5.5 11.5][9] 5.5][9] 5.5 17.0)[9] 5.5 1.0/[9] 5.5 11.5|9] 5.5 16.0J9] 5.5| — — — 11.5 153.0
10| Ao FFE—1 % 9.5 9.5 1500 — |9 4.0 — 9.5 — 14.0{[9] 4.0[[9] 4.0[[9] 4.0 12.5|9] 4.0|[9] 4.0 9.5] — 12.5|Q9] 4.0 — 120.0
LS 6.5|9] 1.0 9.0 — 38 — - — g5 — 35 3.5 8.0 — - — " 3.5 = = 45.0
11| v h— 19.0 20.0{[9] 8.5 17.5 2.5|[9) 8.5 17.5 2.5/[9] 8.5|[9] 8.5/[9] 8.5 14.5 14.5|[9] 8.5 2.5[9] 8.5 14.5 14.5 2.5/[9] 8.5 210.0
121 F & 17.0J[9] 5.5 11.5|9) 5.5/9] 5.5 11.5 16.0 14.5]9] 5.5 11.5 14.5{[9] 5.5|[9] 5.5 11.5[9] 5.5|[9] 5.5 1.0l — — - 153.0
A8 & E 20.0|(6] 14.5|[3] 17.5|[3] 17.5|[9] 8.5[Q] 8.5 2.5|6] 145 2.5|2] 19.0[Q] 8.5[[5] 14.5 2.5|9] 8.5|[6] 14.5|[9] 8.5[Q] 8.5|[9] 8.5 2.5]0] 8.5] 210.0
"li4] & H 14.0 13.0 7.0 17.0 15.0{[6] 12.0/[9] 9.0 11.0 16.0 1.0{(13] 5.0 8.0 4.0 3.0 6.0 2.0 10.0] — — — 153.0
15| tH  # 9.0 4.0 7.0 2.5 1.0 80] — |6 50 — [B 6.0 10.0 2.5 — — — — — — — — 55.0
16| 8 @& & 5.5 5.5 8.5|9] 2.0|[5] 5.5 8.5 11.0][9] 2.0 — 10.0] — 5.5/[9] 2.0 — — - — — — — 66.0
17| 22 F 8 12.0 7.5 7.5 10.5|[9] 4.5][9] 4.5 7.5 2.0 — — 2.0 13.0 10.5 — — 2.0|5] 7.5 — — — 91.0
18] F—F=U— 14.0 5.0{[6] 9.0{(5] 10.0{[4] 11.0 3.0{[13 2.0 7.0{9] 6.0] — 13.0 1.0 — — 12.0 4.0 8.0] — - — 105.0
19| 7 L —§E 7.0 11.0 — — 5.0 10.0 1.0/[9] 3.0 — 2.0 8.0l6] 6.0] — 4.0 9.0] — — — — — 66.0
20| B it 9] 1.5 4.5|9] 1.5 9.0 10.0 7.5 4.5 7.5 4.5|6) 4.5 - — — — — — — — — — 55.0
ol 7 = = 18.0 16.0J[9] 6.5 12.5|(5] 12.5][9] 6.5 12.5(9] 6.5][9] 6.5 1.5|9] 6.5][9] 6.5/9] 6.5/[9] 6.5 17.0 1.5 12.5] — 15.00 — 171.0
90| e pp—n 5 20.0 14.5 8.0 14.5 8.0 17.0 3.0 3.0 3.0 18.0 3.0|[9] 11.5 19.0{[Q] 11.5 8.0 14.5 3.0 14.5 8.0 8.0 210.0
L8 14.5{[9] 11.5 3.0 14.5 3.0 19.0 8.0 3.0 18.0 8.0 14.5 14.5 3.0/(4] 17.0 8.0 20.0 3.0 8.0{[9] 11.5 8.0 210.0
23| Aoy 19.0 17.0 20.0 9.0 3.0 6.0 5.0 13.0 18.0|(6] 15.0 11.0)13 8.0 2.0 7.0 16.0 1.0{[9] 12.0 14.0 4.0 10.0 210.0
NP L, e 5.0 4.0 13.0 3.0 17.0 7.0 6.0 18.0{(6] 14.0 19.0 8.0 16.0 12.0 10.0 1.0 — 9.0 15.0][9] 11.0 2.0 190.0
9] 10.0{[6] 13.0 9.0 7.0 18.0 14.0 11.0 1.0 16.0 15.0 4.0|13 6.0 17.0 5.0 - — 3.0 12.0 8.0 2.0 171.0
A A = 426.0] 392.5] 330.5] 330.0] 289.5| 295.0| 282.5| 277.5] 291.5] 262.5] 251.0] 241.0/ 231.0] 226.5] 216.5] 194.5] 187.5| 161.0] 140.0 84.5] 5,111.0
= pill 320.0] 320.0] 310.0] 290.0] 320.0] 300.0] 300.0] 300.0] 280.0] 290.0] 300.0] 300.0] 270.0] 260.0] 260.0f 250.0] 240.0] 180.0] 200.0] 160.0] 5,450.0
g =2 & &t 746.0 712.5| 640.5] 620.0] 609.5] 595.0] 582.5| 577.5| 571.5] 552.5| 551.0] 541.0] 501.0/ 486.5| 476.5| 444.5] 427.5] 341.0] 340.0] 244.5] 10,561.0
1| B EEEER 18.0 17.0|[6] 15.0 11.0 10.0 13.0 14.0 20.0 4.0 9.0 5.5|13) 7.5 7.5|05 5.5 1.0 19.0 16.0 2.5][9] 12.0 2.5 210.0
2| V7 b= 8.5 14.0 11.5{9] 3.5 8.5/[9] 3.5|5] 8.5|[9] 3.5 8.5/[9] 3.5 13.00 — — 11.5|[9] 3.5/9] 3.5 — — — — 105.0
3| ANFIV bV 20.0 19.0{[9] 8.5 17.0 14.5 2.5 18.0 14.5)[9] 8.5 14.5][9] 8.5|[9] 8.5 2.5|[9] 8.5 2.5/[9] 8.5|[5] 14.5|9] 8.5|[9] 8.5 2.5 210.0
e 4| NL—FR—n 16.5 18.0{[9)] 7.5 19.0/[9} 7.5|9) 7.5 16.5 13.5 13.5 2.0]9] 7.5 2.0|9) 7.5)9) 7.5|9) 7.5 13.5 2.0]9] 7.5 13.5) — 190.0
N I RAY.Y hAR—L 14.5 11.5{[9] 5.5 14.5][9] 5.5 11.5|9] 5.5|8] 5.5 17.0{[9] 5.5 1.0][9] 5.5 11.5|9] 5.5 16.0{Q] 5.5| — — - 11.5 153.0
.| 6] N RR— 6.5(9] 1.0 9.0 — 3.5 — = 2= 6.5 = 3.5 3.5 8.0 — — oo — 3.5 — — 45.0
| 7| F—hFrFR—n 14.5][9] 11.5 3.0 14.5 3.0 19.0 8.0 3.0 18.0 8.0 14.5 14.5 3.0 17.0 8.0 20.0 3.0 8.0][9] 11.5 8.0 210.0
j.z.\ 8| /oo KAz 9] 10.0{[6] 13.0 9.0 7.0 18.0 14.0 11.0 1.0 16.0 15.0 4.0 6.0 17.0 500 — == 3.0 12.0 8.0 2.0 171.0
() A 108.5 105.0 69.0 86.5 70.5 71.0 81.5 61.0 92.0 57.5 57.5 47.5 57.0 60.5 38.5 70.0 38.5]  42.0 53.5 26.5] 1,294.0
& Jn =3 80.0 80.0 80.0 70.0 80.0 70.0 70.0 70.0 80.0 70.0 80.0 70.0 70.0 70.0 60.0 60.0 50.0 60.0 50.0 50.00 1,370.0
# A & & 188.5] 185.0] 149.0] 156.5] 150.5| 141.0] 151.5/ 131.0] 172.0] 127.5] 137.5| 117.5| 127.0] 130.5 98.5| 130.0 88.5 102.0] 103.5 76.5] 2,664.0
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